A srewnea(pg Caiey — Qi bug— 2023 — aflen_g@MILiy
oot 2L Loend 6TL L_ITLD GU@GLIL - HEWIH S L&) L16)Liewr : 100
Ggg&r@ﬂ aflenr_ Lo B L16)LiGssT 6T
I sflwrest allenL_ewwg Czim0\5HSSI 6T(1pI%:- (15x1 =15)
-17
1 (=) —~ 1
2 () 7 1
-1
3 («) = 1
4 (=) 16 Q&5 1
5 (=) 6 1
6 (<) 1 1
7 () bmn 1
8 | (@ 9rq’ 1
9 () 200 1
10 () X 250 1
11 (<) 36% 1
12 (m) 93 18 1
13 (@) 420 Q&5 1
14 () 64 1
15 (<) 18 1
11 | SsmylL @ miseer brLiLs:- (5x1 =5)
16 1 1
17 QUL L 1D 1
18 | —2x? 1
19 10000 1
20 FIQUFLD 1
L. | FHwr seumr erests gmm)s:- (5x1 =5)
21 &l 1
22 &l 1
23 Salnl 1
24 syl 1
25 &l 1
. | Qurmgsys:- (5x1 =5)
26 V12 x+/3 -- 6 1
27 QT AL L GBS FODoTa)  -- (T + 2)r oyv@sar 1
28 | 4y? x(—3y) -- —12y3 1
29 10000 @ar 25% -- 2500 1
30 FiouFLo (Lp& Q& mewTLd -- Li— L — LI LIGSTL] 1
V. JOse b LFF NeInss@n%E@ WL HIW aienL_waf:- (10 x 2 = 20)
31 1,3 _ 23 1
20 20 1
= 1.15
32 |/ 178 1
O
2 275
=32 1
33 | V1331=Vilx11x11 1
=11 1




34

0

— 2
A= 3607 XTr i
A="2xZx21x21 = 462 50418
3600 7
35 apuiovd @s@ms, F+V —E =2 1
6+8—-12=2
2=2 1
36 | —2p (5p* =3p+7) = (=2p)(5p*) + (=2p)(—3p) + (=2p)(7) 1
= —10p3 + 6p% — 14p 1
37 (5x +3)(5x +4) = (5x)(5x) + (5x)(4) + (3)(5x) + (3)(4) 1
= 25x2 + 35x + 12 1
38 80% erairigy 576 wHLIGLGsTSET.
100% erairiig) = >=x 100 1
=720 1
39 2 YSTHS@BSSG HL_S@GLD gl QUL 198G Saleul 198@L @)enL Guiujarar
2
. . r
AgPwnsr = P (1—0) 1
4 2
=38
40 APQR e1aiLigy @b @) (bFLoLISS (1Lp&BHTewILd GTRILIST, X = Y 1
ZP + £Q + 4R = 180°
50° + x +y = 180°
x = 659, y= 65° 1
41 122 =144 , 13?2 = 169 wpmw 152 = 225 1
122 + 13% # 152
Qw1 G ment (Lps G TewTS B G LIS BI% T 9GOV 1
42 Qrgs auflger=m +n 1
Qigs auflsar=5+4 =9 1
- TJCaeIId M| NTTSF@p%@ L BRI eilewL_ wa:- (6 x5 = 30)
43 18.Q o= 20 1
—34 -28 0 —-10 -19 1
0w,
TDIAWT S0 T 50 50 .
-17 -7 =19 -2 0
& 25 ‘19207, 417, 1
@rrig aflers 0,50, 50 5y
1
44 67 8 1
6| 4596 84
36 1
127 996
8 89 1
1348 107 84
107 84 1
0 1
V459684 = 678
45 ggims@Ser ugLiy = 10 xxx 10 = 100 & 6.8 1

. o e e . . 1
BIGIE& SMeveuL’ L L1 LG safer ugliy = 4 X7 X mr?




=4X%X3.14X5X5 1
=78.5 #0&.8 1
Blpedltin’ L ug@uiler ugtiy = 100 — 78.5 = 21.5 #0&.18 1
1
46 QFaleus ag e Hlavg@er ugtiyy = 15x8 = 120 & 18 1
4 epewevsaflad Lig wr®k Cuuyd LGS uieT ugLiy = 4 X% xmr? =
4x%x3.14x3X3 1
= 28.26 & 18
BOLILGSUID Lig or® Guowjtd LGS udes Ligiiy = T2
=314x3x3 1
= 28.26 # 15 1
eTpsLILIGeuTe D Cowriur g ug@uiler gty = 120 — 28.26 — 28.26 = 63.48 = 1
L5
(Lorpm) (LpewpHefed aflen_wellssLILIL 19 (5BSTILD (Lp(Lp LoBLIO)LIGHT auLpBIST )
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_ QLongsLiLIL_miseieT cienTenlls & 5
- R LISFSTD 2 GTaT LIL_BIFGHGST 6T6uwTest%ens
_ 100x?y?®
T 4xy 2
= 25xy? 1
48 | 8 _ 75 _ 80 . 3
100 ¥ To0 % 100 ¥ 100 =31% )
100 — 51 = 49%
49 r\" 1
A=P(1+—
( + 100)
A = 3200 (1 § 22 )2 '
- 100
4 = 3200 (102.5)2 1
- 100 1
A =%3362
gt @arig=A— P = 3362 — 3200 = X 162 1
50 AABC w5 AADE w6 g avrssene. 1
AC BC 9
AE ~ DE
h =40 9uq 2
51 A
13 GlFiB h 13 @F1B
Bizass D zess C 1
sga, BD = DC =12 Q&8
Qs G ment (LpsCsnewid ABD @)ev, LIsnsged CspmLiLILg, 1
h* = 13% —12% = 169 — 144 = 25 5
h=5 Q&8
1
92 | Gauswy = (x + 30) 9..8/wewh 1

Gpos = (Y + 2) wewf




anod = Geustd X GpyLd 1
g = (x +30) x (y + 2) 1
= (xy +2x + 30y + 60) 9.5
2
viL euengUL b mmjw GFuiapenn euigafuwe :- (2x 10 = 20)
53.. | X~ 285 opmILD Y~ 55 1
TS B L L_LD
yaTaflsemensd &pPlgse 1
8
(Sl
53.9y | X - OFFH LPMILD Y — 9Fa 1
HTOYSFL 11D
9L L_auenent SWTHSSH (&M bSS CLPGIN] L|6T6r % 6iT) 1
YereflEenarsd &ml%se0
CrigClsr® auenisa 3
2
3
54,9 |2g@iliuL b 2
2 GEIGHLOLILIL LD
(Lp&CHTEHILD 6U6H TS 6D
BTGTH TG & FFen IS H6sTL_ PS6D
BTDE TS5 68 6T 6165 TS0 3
BIDSISS G LITLILIGTG & TS 2
2
1
(A1)
54., o gl b 2
2 GEIGHLOLILIL LD
(Lp&CHTEHILD GUGH TS 6D
@)eneTCHT(R) UNITBG BIXIHTIS FHE WIS HETL_DP% 60
F6USS5) 60 GT 616D TS 6D 3
Ff6U %S BET LITLILIGTG| &Te8)] %60 2
2
1
A ‘ QUARTERLY EXAMINATION - SEPTEMBER - 2023 -~ ANSWER KEY
TIME : 2L HOURS STANDARD : VIII MARKS : 100
2 SUBJECT : MATHS
Qn. No. ANSWER MARKS
l. CHOOSE THE CORRECT ANSWER:- (15x 1 =15)
A) =< 1
( 24
2 |©7
-1
3 w5 1
4 (B) 16 cm 1




5 B) 6 1
6 |(B)1 1
7 (A) 6mn 1
g | (C)9pq? 1
9 (D) 200 1
10 | (D)<250 1
11 | (B) 36% 1
12 | (D) 93 m 1
13 (C) 420 cm? 1
14 | (D) 64 1
15 [(B) 18 1
1. | FILL IN THE BLANKS:- (6x1 =9)
16 |1 1
17 circle 1
18 | —2x° 1
19 | 10000 1
20 congruent 1
I1l. | SAY TRUE OR FALSE:- (6x1 =5)
21 | TRUE 1
oo | TRUE 1
o3 | FALSE 1
o4 | FALSE 1
TRUE 1

25




IV. | MATCH THE FOLLOWING :- (6x1 =9)
26 V12x+3 - 6 1
27 Circumference of a semi circle -- (m 4+ 2)r units 1
28 4y2 X(—3y) -- —12y3 1
29 | 25% of 10000 -- 2500 1
30 | Congruent triangles -- S—S—S Property 1
V. ANSWER ANY TEN QUESTIONS:- (10 x 2 = 20)
i |,3_% .
20 2 1
= 1.15
32 1,5 175 1
B -5
2 275
=32 1
33 | V1331 =V11x11x11 1
=11 1
# [, 0 ,
= 36000 X1nr 1
A=2xZx21x21 =462 Sg.cm
35 By Euler’s Formula, F +V — E = 2 1
64+8—-12=2 1
2=2
3 | —2p (5p* —3p+7) = (-2p)(5p*) + (=2p)(=3p) + (=2p)(7) 1
= —10p3 + 6p% — 4p 1
37 (5x+3)(5x +4) = (5x)(5x) + (5x)( )+ 3)(Bx) + (3)(4) 1
= 25x2 + 35x + 12 1
38 80% of marks = 576
576 1
100% of marks = Wx 100
=720 1
39 ] ) ) r \2
For 2 years, the dif erence in C.1and S.1is = P (—)
100 1
4 2
=8 1
40 APQR is an isosceles triangle, x =y L
ZP + 2Q + 4R = 180°
50° + x +y = 180°
0 0 1
x = 659, y= 65
41 122 = 144 , 13?2 = 169 and 152 = 225 1
122 + 13% # 152
Therefore 12,13, 15 are not the sides of right-angled triangle 1
42 | Totalways=m+n
1

Totalways=5+4=9




VI. ANSWER ANY SIX QUESTIONS :- (6 x5=230)
43 LCM =20 1
—34 28 0 -10 —-19 1
2072077 20" 20
=~ Ascending Order : _—M,_—m,_—w,_—m, 1
20 20 20 20
-17 =7 —-19 -2
10’5 2004 " 1
Descending Order : 02,222 -7
4’20’5 7’10 1
44 67 8
6 | 4596 84 1
36 1
127 | 996
8 89 1
1348 1 07 84
107 84 !
0 1
V459684 = 678
45 Area of the Square= 10 xxx 10 = 100 Sg.cm 1
Avrea of the four quadrants = 4 xi X 12 1
=4XiX3.14X5X5 i
= 78.5 Sg.cm 1
Avrea of the shaded region = 100 — 78.5 = 21.5 Sgcm
46 Area of the rectangular land = 15x8 = 120 Sq. 1
Area of the graze by cows at the four corners fth land = 4 xi x r? 1
= 4x; x3.14x3x3 1
= 28.26 Sq.m
Area of cow grazing area in the middle = mr?
=3.14x3x3 1
= 2826 Sq.m
The area of the field where no cows can graze = 120 — 28.26 — 28.26 1
= 63.48 Sq.m
(Full marks may be a arded even if alternate method is used)
47 | Total number of page needed = ~2talnumber of pictures 2
Pictures in one page
100x2%y3 2
T 4xy 1
= 25xy?
48 85 75 80 3
100 * 700 * 100 * 100=>1% 5
100 — 51 = 49%
49 T \" 1
A=pP(1+ W)
2.5\° 1
A = 3200 (1 + m)
102.5\° 1
A =3200 (W)
A =33362 i

Compound Interest = A — P = 3362 — 3200 =X 162




50 AABC and AADE are similar. 1
AC _ BC )
AE DE
h = 40 feet 2
51 A
13 cm h 13 cm
1
B
B 12 cm D 12 cm C
Given, BD =DC =12 cm 1
In the right angled triangle ABD, by Pythagoras theorem,
h?* =132 —12% = 169 — 144 = 25 2
h=5 cm 1
52 | Speed = (x + 30) km/hr 1
Time = (y + 2) hours 1
Distance = Speed x Time 1
Distance = (x + 30) x (y + 2)
= (xy + 2x + 30y + 60) km 2
VIl. | GRAPH AND PRACTICAL GEOMETRY:- (2 x 10 = 20)
53A | X-AXIS and Y - AXIS 1
SCALE 1
Plotting the points. 8
(OR)
3B | X-AXIS and Y - AXIS 1
SCALE 1
Table Preparation (At least three points) g
Plotting the points. 3
Drawing the straight | ne
54A | Rough Diagram 2
Fair Diagram
Constructi n fthe triangle. 3
Find the fo rth vertex of the quadrilateral. 2
Completing the quadrilateral 2
Find the area of the quadrilateral L
(CR)
54.B | Rough Diagram 2
Fair Diagram
Construction of the triangle. 3
Find the fourth vertex of the trapezium 2
Completing the quadrilateral i

Find the area of the trapezium




